Follow me cards…mixed calculation/problems


	9.5
	8 x 7 – 6

	50
	Ben runs at 8mph to the shop 2 miles away. How long does this take ?

	15 mins
	11 x 3 ÷ 2

	16.5
	9 x 7

	63
	12 carrots are £2.00.

How much do 3 carrots cost?

	50p
	3.5 – 0.75 + 0.25

	3
	 If a train goes at 150 kmph, how far does it travel in 15 mins

	37.5 km
	4 + 5 - 3 + 6 - 3

	9
	If 8 oranges cost 56p, how much do 2 cost?

	14p
	If 2x+ 1 = 5, what is x ?

	2
	How many sixths of an hour is 40 minutes?

	4
	(6 ÷ 3) + 4) ÷6

	1
	The 2.15 bus arrives at 3.10.

How late is this ?

	55 mins
	7 X 9 ÷ 2 + 6.5

	38
	2.5 x 5 - 3
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